10 - ¥10L
WIA NYINTOOY
TYNOIDNULISNOS OLINHWYINOAY 'H
VIHINOSIL

[SEe g 11114
“WIA TNYIVICOV L
TGN ESMOD OLNTWYINNAY H

VidnNeio3y

WL BLGS

an ‘253835

’

vy X7 TTe]

o5 QLN NARY 34

NIS

1202 - 8102
UIA NYIMOIVLL
THODNUESNOD OLNIINYINNAY ‘H
TEADNNW VIDNIAIST UG

94811001 gvS 0008 —g.om 00'0% 00°0% 00°0$ (z+1=¢) sosa163 ap opeynsay |op jLyo) ‘¢
00'0$ 000 0004 00'0% 00°0% 000% eoygid Bpnacy
00'0% 00'0% 0008 00'0% 00°0$ 000% ssuotoenode A ssuotoediotled
00'0$ 00°0$ 0003 00°0% 00'0% 00°0$ SBUOISIADIL SBIO A SEISIOUBY SOUOISIaAU)
Z6'vL8'S02'028 00038 000$ 000$ 00'0$ 00'0% eoljgnd uorsiaauy
LS LET'LL0'LS 00°0$ 00°0$ 00'0% 000$ 000$ sejqifuejut 8 sajqonwuy; ‘sejgentu ssusig
00'008'6ZL$ 000% 0008 000$ 00'0% 000$ sepnie sejo A sopisgns ‘seucioeubise ‘seiousiajsuel |
89°/6L'6L2'L8 0003 00°0$ 00'0% 00°0% 00°0% sejeioust somineg
60°106'L06'LS 00°0% 00'0$ 00'0% 00'0% 00'0% sonsuLns A sojeyerepy
ve'erL'ior'es 00°0% 00°0% 00'0$ 00°0% 00'0% sejuosied soiueg
Y1'184'666'228 jo0°0$ 00°0$ 00°0$ focow 00°0$ (1+H+O+4+3+Q+0+8+V=7) opejanbyg ojsen 'z
00'0$ 0008 00°0$ 00'0$ 00'0% 00°0% ealgnd epnog
00°0% 00'0% 00°0$ 00'0$ 00°0$ 00°0$ seuoepode A sauoioedioneq
00°0% 00°0% 00'0% 00'0% 00'0% 00'0$ sauoisirold seio A sersioueul) SsuoisIol]
00°0% 00°0$ 00'0% 00'0$ 00'0% 00'0% eoljqnd uoissaAu]
0Z'09L'Levs 00'0$ 00'0% 00'0% 00°0% 00'0% sejqiBuelu; @ ssjgantuul ‘sajgent seusig
¥26br'616'18 000$ 0008 00°0$ 0006 000$ sepnie seso A sopisqns ‘seuoiorubise ‘selousiajsuel |
06°222'962'2% 00'0% 000% 00'0% : 00'0% 0008 sojesaush soloineg
06'985'909'2% 00°0% 00'0% 00'0$ 000$ 00°0$ sonsiuInS A sejeuajep]
8l'12z'ase'6s 00'0$ 00°0$ 000$ 000$ 00'0$ so[euosiod soeg
29'999'v0L° 218 00°0% fooos 00'0$ 00°0$ 00°0$ (1+H+O+:4+3+0+0+8+V=1) opeenbn3 oN ojsen )
uEﬂwd_wm_S i L ouy Zouy £ ouy v ouy g ouy oidesuon
020Z @p 31qWIIIP 3P LE [ 01U 3D | jog qﬁ&m@
i

4Q1 - soseiBg op sopeynsay

I8/ ‘uenjose]} op ojuRIeIUNAY “H




